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(Pages :4)

Time :Three Hours

Text: PRUDENCE

3068 - A01 - 1SS - N-14

English (Basic)
(New)

FIRST SEMESTER B.Sc. DEGREE EXAMINATION, 2014

Maximum : 80 Marks

Answer the following questions in a word, phrase or sentence each: (10x1=10)

1} How much did the narrator want to deposit in the bank in the cssay ‘My

Financial Career?

2)  Where did Gangu find Gomti finally?
3) What was the name of menasch’s aunt?

4) Mention any two things tarnished by advertisement.

5} To which country does Jade Snow’s family originally belong?

6) What is surely coming according to Nissim Ezekiel?

7)  Which season of the year is described in the poem ‘stopping by woods on

snowy evening’?

8) What kind of madness does the poet refer to in ‘Mohey madness’?

9) What is death according to walt whitman? )

10) How many tongues are mentioned in the poem ‘search for my tongue?
fl. Explain with reference to the context the following choosing one from prose and one

from poetry.

(2x5=10)

1} T am not a defective at all. I have come to open an account”.
2) What nonsense, can you deny that she has left three husbands?
3) The woods are lovely dark and deep But I have promises to keep.

4) We must have some money to save us from eating dirt.
L. 1) Sketch the character of Gangu in “The story the Child.

2) Discuss the views of herman wouk on advertising.
IV. 1) Describe Nissim Ezekiels views in ‘Very Indian poem in Indian English’.

3068-A01-155-%-11

OR

OR

(1)

(1x10=10)




2074-A73-ISS-N-16

B.Sc. DEGREE EXAMINATION NOVEMBER 2016.
First Semester
BOTANY (OPTIONAL)
Paper I - DIVERSITY OF MICROBES, ALGAE, FUNGI AND LICHENS

Timo *+ Three hours Maximum : 80 marks

Answer ALL questions.

Draw neat labelled diagrams wherever necessary.

I.  Explain any TEN of the following : (10 » 2 = 20)
dohem)nvd wlevor B3, V3020

1. Prions
o,

2. BBTV
D.D.ELD.

3, Citrus canker
Ab3=¢ F%oﬁoﬁ

4. Plasmid
T T

5. Calyptra
53,083,

6. Nucule
Hi%ﬁ%vs

7. Glomerule
Ragudoer

8.  Algal blocm
veer WS




2072-A71-I1S8-K-16

B.Sc. DEGREE EXAMINATION NOVEMBER 2016,
First Semester
PHYSICS (OPTIONAL)
{New Syllabus)

T-me : Three hours Maximum : 80 marks
Answer questions 1 to 4 on the first page of the answer book

PART I — (10 x 2 = 20 marks)

Answer any TEN of the following :
wemen B3 JPNOrN sugd0

The expression for centripetal acceleration is

FeUB WM Serlacs e sudodn
‘a)  rw (b) rw’
@ = CIN
r w
z The S.I unit of lincar momentum is
S1. 3g30bd UYoR IDINHT IRTID)
fa) Kgm (b) Kgms™
(©@ Kgms™ (d Kgms
3. The total energy of a particle undergoing SHM is proportional to
(a) (Displacement)’ (b) Displacement
(c) Amplitude {d) None of these
R0Y zori3 woNeLATLT 2000 THW wid), BEodn 2oed) ue0tITNGS.
(@) (=8 Sew)’ (b) @ S
(c} 1Ok sy dets d oinzhEe we)
1
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B.5¢, DEGREE EXAMINATION NOVEMBER 2016.

First Semester

Mt loLo - KANNADA
BASIC

{New Syllabus)

Time : Three hours Maximum : 80 marks

thd s3] wis dJ&g? Now a3 eRnwsny.
1, () oS 30e0s Se8d 8y Sesd web sadabd det §3mehd? 28ea20. (15)
e

(b) &=gab BeSRE  dedcod Aan@y ‘Mod Fowo wnW - rog JeBron 5HI0LY
SaeBwon wiicds), 5,030 HRDAD,

2. eoed SOWY, L3 wond : (2 x 10 = 20)
(@)  Soosd 338 B

(b) =mrY) IS Bes

(c) oty do swortsw

(d) @aous Sy

3. (a) &Q&J &318 Bgiodd Spdd -“isi‘%a W3 300 zaﬁcmag FoB2) wowd. {15)
P

(b) ‘svEP deoewy SHob BOIC ARk BITIING, 3020,

4, dever HOBY, 3T6d 0D (2 x 10 = 20)
fa) VRO &
(b) HEpwruog, dewd

(o3 %y @4ab 00

(d)  ooriE @Hon




